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QUESTION 1

What is the holding queue for messages that cannot be delivered to the destination queues? 

A. Dead-letter queue 

B. Backout queue 

C. Transmission queue 

D. Undeliverable messages are simply discarded from the system 

Correct Answer: A 

 

QUESTION 2

In order for a MQ program to send a message to another MQ program using a queue, which of the following is true? 

A. The sending program must request the receiving program\\'s queue name from the WebSphere MQ queue manager. 

B. The sending program, the receiving program, and WebSphere MQ must all be currently running before any of the
queues can be accessed. 

C. The sending program and the receiving program must agree on which queue they will use for communicating. 

D. The sending program specifies the receiver program name in a message header by which WebSphere MQ uses to
send the message to the receiver program. 

Correct Answer: C 

 

QUESTION 3

Which of the following is NOT required for a WebSphere MQ Client program? 

A. A WebSphere MQ client programming API 

B. A synchronous connection to the queue manager 

C. Queue Manager run-time code on machine where client is running 

D. A destination on a queue manager by which to put or get messages 

Correct Answer: D 

 

QUESTION 4

Which topic string is NOT valid for a subscribing application to get all messages about fresh fruit if a topic tree exists
with the following topic hierarchy: deli/fresh; deli/tinned/nuts; deli/tinned/meat? 
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A. deli 

B. deli/+/fruit 

C. deli/fresh/fruit 

D. deli/# 

Correct Answer: A 

 

QUESTION 5

Which of the following is NOT a valid method of administration for WebSphere MQ v7? 

A. WebSphere MQ Explorer 

B. Integrated Solutions Console 

C. Command-line 

D. PCF commands 

Correct Answer: B 
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